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Qla The chain rule: % = 53x% —5x) (6x-5)

dx

QIb The product rule: f'(x)=3xe® +e* = > (3x+1),
f10)=e"(1)=1
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2C
e =6,

c 2x ¢ 2c
Q5 J-eb‘dx=§, ¢ =§,e__l=§,_-.
q 2712, 272 2 2
C=%loge 6 or loge\/g.
Q6a Domain of f” is (—e0,1)U(1,2)U(2,00).

Q6b
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Q7a The mode of X is 3.
Q7b Pr=0.1"+0.2>+0.32+04> =03

Q8 Pr(DCC)+Pr(CcDC)+Pr(CCD)
=0.6x0.5%0.4+0.4x0.6x0.5+0.4x0.4x0.6 = 0.336

Q9a Area of equilateral triangle = l)c2 sin 60° = ﬁxz .
-~V =£x2y =1000. Hence y = 4000
4 x2\3

X 2

3 2}4000\/3 J3x2

Q9b Total surface area A =3xy+ Z(Tx +

Qe Ler P WO 5,

X X

- x’ =4000, x=10x¥/4 or 10x27 .

QI10a The range of fis (- l,oo) , it becomes the domain of .
The equation of fis y =e** —1, the equation of ' is

x=e? —1. . e*

=x+1, yz%loge(x+1).
Hence f‘l(x)=%log‘,(x+1), xe (—1,00).
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Ql0c f‘l(x)=%log (x+1), - £(2 )=—%log‘,(2x+l),

lop X

=1, e pa)=e 0

= e = (2x 41 —1=#—1= 2
2x+1 2x+1
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